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Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt of this question paper.

2. Attempt all questions.

3. All questions carry equal marks.

4. Answers may be written either in English or Hindi; but the same medium should
be used throughout the paper. -
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“Union Management Relations is the sine-qua-none of the modern Industrial

society”. Explain the statement. (15
OR

“Industrial Relations is nothing but the relationship among the three different
actors operating in industries”. Explain the statement in the context of industrial

relations system in India.
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2. Define Industrial Dispute and explain its consequences? (15)
OR
“Industrial dispute and individual dispute are not the same.” Explain the statement?
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3. What are the procedures for settlement of industrial disputes in India? Explain in
detail. (15)

OR
Explain the following

(a) “Conciliation is a compulsory procedure. Yet very low importance is given
to it.” (M

(b) “The ambit of Industrial tribunal is unlimited and broader than any other

method of adjudication.” (3)
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4. Describe the procedure for prevention of industrial disputes as provided under
Industrial Disputes Act in India. (15)

OR

“Strike and lockout are two sides of the same coin.” Explain the statement. What

are the other forms of strike?
Ra # st faare sfdfes @ ser sifies ot & faro w6t fafat
U FifoT

Aqdr

“FEA R AIE Uk g @ @ Ueel 271 36 @U@ ARl FIl BeA @
faft= yor =« ® wwEmEw

5. Write short note on any three of the following
(a) Mediation
(b) Grievance procedure
(c) Court of enquiry
(d) Definition of worker

(e) Conciliation Board (5 marks each)
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